




4) The sides of a triangle are
√
2,
√
3 and

√
5.

a) What kind of triangle is this?

b) What is the position of the vertex opposite to the side
√
5based on a circle with this side as the

diametre?

c) What is the position of other two vertices based on this circle?

5) ABC is an equilateral triangle.A semicircle is drawn with diametre BC . Semicircle intersect the sides at P
and Q.

a) What is the measure of angle BQC?(Draw angle in the figure)

b) What are the angles of triangle ABQ and triangle BQC

c) Prove that the semicircle bisects the side AB and AC
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c) What is the measure of ∠AOC?
d) What is the measure of ∠ADC?
e) What is the measure of ∠ABC?

3) Ois the centre of the circumcircle of triangle ABC .
If ∠BAC = y,∠OBC = xthen

a) What is the measure of ∠BCO?
b) What is the measure of ∠BOC?
c) Prove that x+ y = 90◦

4) Draw a circle of radius 3cm. Construct triangle ABC in which ∠A = 70◦,∠B = 80◦ with all its vertices
on the circle.

5) P and Q are the centre of the circles shown in the figure. Circles intersect at B and C .If ∠AQB = 130◦

then

a) What is the measure of ∠ACB?
b) What is the measure of ∠BCD?
c) What is the measure of ∠BPD
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c) What is the measure of ∠AOC?
d) What is the measure of ∠ABC?

3) In the figure O is the centre of the circle.If ∠BAC = 32◦then

a) Find the angles of triangle OAB

b) What is the measure of ∠DOC?
c) Find x

4) This is the picture of a clock face.1, 8, 5 are joined to make a triangle.Find the angles of this triangle.

5) Angles of a triangle are in the ratio1 : 2 : 3. Vertices of this triangle are on a circle of radius 3cm .Construct
the triangle
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3) ABCD is a cyclic quadrilateral.AB is the diametre of the circle , AD = CD and ∠ADC = 130◦.

a) What is the measure of ∠ACB?
b) What is the measure of ∠ABC?
c) Find ∠DCB.
d) What is the measure of ∠BAD?

4) Prove that any cyclic parallelogram is a rectangle.

5) In triangle ABC , AB = AC .P and Q are the mid points of the side AB and AC .

a) Draw a rough diagram and join the points P and Q.
b) Prove that BPQC is a cyclic quadrilateral.
c) If ∠A in triangle ABC is 20◦, find the angles of the trapezium BPQC
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b) If AC = DF suggest a suitable name to the quadrilateral ADFC

c) Prove that ADFC is a cyclic quadrilateral.

3) AB is the diametre of the circle.CD is a chord of length equal to radius of the circle.

a)      What is the measure of ∠COD?
b) What is the measure of ∠CBD?
c) What is the measure of ∠DCP ?
d) Find the measure of ∠CPD

4) In the figure ABCD is a quadrilateral in which AB is parallel to CD and AD = BC

Prove that ABCD is a cyclic quadrilateral.

5) The angles of the quadrilateral ABCD are in the ratio 1 : 2 : 3 : 4 in an order.

a)      If the smallest angle is x,what are the other angles?
b) Find the measure of all the angles of ABCD

c) Is ABCD a cyclic quadrilateral.
d) How should the ratio numbers interchange to make this cyclic?
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b) If ∠CDA = ∠DAB then what type of quadrilateral is ABCD?
c) If ∠CDA = ∠DAB = 40◦then find other two angles of ABCD

3 In traingle ABC , P is a point on BC .
AB = AP ,the line through A parallel to BC and the line through Cparallel to AP intersect at D .Prove
that ABCD is cyclic

4) The parallelogram which is not a rectangle is not cyclic. Justify this statement

5) ABCD is a cyclic quadrialteral. Find ∠P + ∠Q+ ∠R+ ∠S
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c) What is the measure of angleADC?
d) Find the angles of triangle AOC

e) If the diametre of the circle is 10cm then find the length of the chord AB

3) In the figure O is the centre of the circle.If angle ADC = 140◦, angleAEC = 60◦ then

a) What is the measeure of ∠APC and ∠AQC

b) What is the measure of angle AOC?
c) Fnd the angles of the quadrlateralPEQB

4) In the figure Ois the centre of the circle, ∠AOC = 45◦then

a) What kind of triangle is OAC?
b) What is the measure of angleABC?
c) What is the measure of angle ADC?
d) If the radius of the circle is 6cm then what is the length of the chord AC .

5) Draw a circle of radius 3cm , construct an equilateral triangle with vertices on the circle. What is the length
of the side?
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b) What is the measure ∠ADC

c) If ∠DAC : ∠DCA = 3 : 1 then find these angles.

3 In the figure ABCDE is a regular pentagon.Prove that ABCE is a cyclic quadrilateral.

4) Prove that the trapezium having diagonals equal is cyclic

5) ABCDis a cyclic quadrilateral. If ∠A− ∠C = 60◦ then find the measure of ∠C .What is the measure of
∠A?
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3) In the figure AB = 5cm, BD = 4cm, CD = 9cm.

.

a) What is the length of AD?
b) Calculate the length of DE?
c) Is CE the diameter of the circle? why?
d) Find the length of DE

4) If AB and CD are two chords of a circle which when produced meet at a point P . If PA = PC show
that AB = CD.

5) In the figure AB and CD are two chords of a circle which when produced meet at a point P

a) Draw AC and BD , complete the quadrilateral ABDC

b) Establish the similarity of the triangles PAC and PDB

c) Establish the relation PA× PB = PC × PD
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3) In the trapezium ABCD, AD = BC and AB is parallel to CD . The diagonals AC and BD intersect at
P .

a) What is the relation between ∠ADB and ∠ACB? How can we realize this relation?
b) If ∠DAC = 30◦then what is the measure of ∠DBC?
c) What is the relation between the segments made byP on the diagonals?

4) In the quadrlateral ABCD , the diagonals AC and BD intersect at P . If PA = 9cm
PB = 12cm, PC = 4cm and PD = 3cm then

a) Draw a rough diagram and mark the mesaurements
b) Is this a cyclic quadrilateral ? How can we realize this ?
c) If ∠A = 40◦ and ∠B = 70◦ find other two angles of the quadrilateral

5) Draw a rectangle of sides 4cm and 6cm . Construct another rectangle with area equal to the area of the
first rectangle and one side 7cm in length.
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3) In the figure AB is the diametre of the semicircle, PC is perpendicular to AB. AC = 5
√
29cm and

PA = 25cm.

a) What is the length of PC?
b) What is the lenght PB?
c) What is the radius of the circle?

4) Draw a semicircle of suitable diametre .Construct a line of length
√
12cm perpendicular to the diametre

whose one end is on the diameter and other end is on the semicircle.Explain the principle of construction.

5) In the figure AB is the diametre of the circle and PC is perpendicular to the diametre. PA : PB = 2 : 1
and PC = 6cm.

a) Write the relation between PA,PB and PC?
b) Find the lengths PA and PB

c) What is the radius of the circle?
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4) a) Draw a semicircle of suitable diametre .Draw a line of length
√
12cm whose one end on AB and other

end on the semicircle.
b) Draw a chord of length

√
48 cm by make the semicircle as the circle

5) ABis the diametre of a semicircle.PQ =
√
14cm RS =

√
18 cm . These lines are perpendicular to the

diametre . Find the length of AB?

6) AB is the diametre of a semicircle , PQ is parallel to the diametre
If AB = 8cm , BQ = 2 cm then find the langth PQ.

7) Draw an equilateral triangle of one side
√
18cm
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